2SN D
RSN YW e ]
CHo: RIS SIES S (S 5e)
S - B GA(BH) - NRAY - B2 Ofl & ot 1= HRE2
10,107,656 8,013,364 2,004,292
= = 3,376,402 2,260,214 1,116, 188
| 2,477,837 2,463,837 14,000
S 4,253,417 3,289,313 964,104
9,920,240 7,823,39% 2,096,845
SrelEAF 2R B = 3,376,402 2,260,214 1,116,188
Il 2,477,837 2,463,837 14,000
= 4,066,001 3,099,344 966,657
e BES 54 505,800 507,000 A 1,200
stEdE 54 345,800 347,000 21,200
201 LEH2Ed| 1,700 2,000 A 300
01 AtR2eltl 1,700 2,000 A300
oMLY S 2SYSETY 1,700 2,000 A300
202 O4d| 5,100 6,000 A900
01 =3U0bl 5,100 6,000 A900
CECLRI=R-CES] 5,100 6,000 900
YAYE - P B4 463,112 253,587 209,525
F=opc g4 381,412 231,587 149,825
202 O4d| 2,125 2,500 A375
01 3UW0bl 2,125 2,500 A375
OY=EdHE AR FX 2,125 2,500 A375
408 XX SIS K201 & 337,287 167,087 150,200
01 XXSHIZRE 337,287 187,087 150,200
OUR M=22| MHUX BHC 82,912 57,712 25,200
Og=sIt BEetd X& 125,000 0 125,000
22 ZEYASUE 54 81,700 22,000 59,700
202 01t 1,700 2,000 A300
01 3U0bl 1,700 2,000 A300
OLHEHME HRFA 1,700 2,000 A 300
403 XX SIS AHZ01& 80,000 20,000 60,000
01 XXEXMX2E X 80,000 20,000 60,000
OHAIE 60,000 0 60,000
2,163,810 1,709,577 454,233
Satsdt 2EE X J| 1,072,575 1,072,575 0
S 1,091,235 637,002 454,233
HSsdd M 151,275 101,500 49,775
202 O4d| 1,275 1,500 A225
01 =U0bl 1,275 1,500 N225
O4EHM YRET 1,275 1,500 ~225
308 AXISMSOIA 90,000 40,000 50,000
01 RXEHBHEEZ 90,000 40,000 50,000
ORASHIME MAHAHE FH 50,000 0 50,000
ENETT 204,050 171,600 32,450
202 O4d| 850 1,000 A 150

- 284 -




S AT
Mo AAZA AW _
CHo|: = Ahs 0 HAOLY X8l (S5l 82)
SH B E(3A) - HIRAY - BAS Off 4 0 pIELl! Hms2
01 =UWobl 850 1,000 A150
OFAMNZTHEA HRFX 850 1,000 A150
308 XX EHHISOIH 86,800 68,600 18,200
01 RXSHZAEES 86,800 68,600 18,200
ox=el ME22H X9 39,800 21,600 18,200
403 XIS X201 116,400 102,000 14,400
01 XXIEHHAEE X 116,400 102,000 14,400
OUAZ AL ESTH JIHRYl X2 23,400 9,000 14,400
AFZH AS0 12 eSO SN =& 299,408 0 299,408
403 XHXIEHHI S AH2 0/ & 299,408 0 299,408
01 XXSMAEExX 299,408 0 299,408
OAL el X MZEEb] 159,408 0 159,408
OTNRAFE HIEAIAE 140,000 0 140,000
= ABI0 G & A 102,550 103,000 450
202 O4H| 2,550 3,000 A450
01 =2LWobl 2,550 3,000 A450
OSABIIZEE L LY DX 2,550 3,000 A450
EMNSHUCH LARSS 30,850 31,000 A150
202 O4H| 850 1,000 A 150
01 =Wobl 850 1,000 A150
OBABUHCH APEX 850 1,000 A150
BYUAIS SO AIE SIS 60,850 61,000 A150
202 04| 850 1,000 A 150
01 =0t 850 1,000 A150
OBYAISSIH AIEBE Y2EX 850 1,000 A150
Me22d=s&3Td 850 1,000 A 150
202 (dH| 850 1,000 A 150
01 =2UWAbl 850 1,000 A 150
oMEzZER Yoz 850 1,000 A150
FNSE-E AL X/(Z22HEXH) 20,000 0 20,000
307 QI2to| ™ 20,000 0 20,000
02 QI2ZHEASE X 20,000 0 20,000
OoOFAZEHE HEE K& 20,000 0 20,000
HACCPXI & XI2(Z2DEEXIR) 6,600 0 6,600
308 XHXIEHHISO0IH 6,600 0 6,600
01 RXESHMIAEED 6,600 0 6,600
OHACCP XI& XI& 6,600 0 6,600
SR NEIETENE 25,000 0 25,000
308 XX EHHISOIH 25,000 0 25,000
01 RXSHZAEED 25,000 0 25,000
OF= 82019 < Nz XY 25,000 0 25,000
OHEAESH (2 OAEXIA) 21,900 0 21,900
403 REXISHRIS K20/ & 21,900 0 21,900
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SA o
3

=Rk

Chol: = A=} HOAOIE X2 (el & 8l)
SA B B(EA) - MRAY - BEE of &t ST DS
01 NACRN=E R 21,900 0 21,900
onlaY 24 21,900 0 21,900
Zn2 858 - odd 23 163,435 171,100 ~7,665
PP EINSITE g 127,850 134,000 6,150
201 Zerea| 1,700 2,000 300
01 Azl 1,700 2,000 300
oMLY S SYSE 79 1,700 2,000 A300
202 018 2,550 3,000 50
01 =0i0i0) 2,550 3,000 450
OHBHEL 2T 2,550 3,000 A450
403 XX SIS =01 A 123,600 129,000 ~5.400
01 AACHA=SE 123,600 129,000 ~5.400
ORBMH SHSHL K2 48,600 54,000 A5, 400
YAENZ HYSHUSHSY 6,800 8,000 ~1.200
201 Lereg| 6,800 8,000 1,200
2 2294 2,550 3,000 450
OBHOIX 24 2,550 3,000 A450
B A2 4,250 5,000 AT50
OEFSHE 4,250 5,000 AT50
NEHZLH NEBA 1,785 2,100 ~315
200 ol 1,785 2,100 ~315
NEETEL 1,785 2,100 ~315
OMZHZEAT A2 A 1,785 2,100 A315
2,540,290 1,363,760 1,176,530
enmL Has olm 2 1,855,900 889,417 966,492
5] 14,000 0 14,000
< 670,381 474,343 196,038
== AE 189,640 190,900 ~1.260
200 o1t 2,89 3,400 ~510
NEETEL 2,890 3,400 A510
OEMZLHE HDEX 2,890 3,400 A510
403 XX SIS =01 A 186,750 187,500 A750
01 RASHNEEE 186,750 167,500 AT50
OJE2L oHH|E A 3,750 37,500 AT50
1,564,690 462,900 1,111,790
AL REIAE(2D) 2 1,303,909 377,417 906,492
= 260,781 75,483 185,298
1,564,690 452,900 1,111,790
403 XX SIS KH= 01 & 2 1,303,909 377,417 906,492
= 260,781 75,483 185,298
01 RASHNEEE 156,690 452,900 1,111,790
OEMZL F2AL T 1,564,690 452,900 1,111,790
2 1,303,909 377,417 906,407
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2SN D
D YASN AW 58 ]
o EA2 L TRS 018 (S 5e)
SN FB . (E) - MRAY - BAS 0l &t pIE-L" S
= 260,781 75,483 185,298
763,500 711,500 52,000
BNEERE ¥ HEE(2D) 2 552,000 512,000 40,000
< 211,500 199,500 12,000
763,500 711,500 52,000
403 XX EHRIS K= 0] & 2 552,000 512,000 40,000
< 211,500 199,500 12,000
01 KXISHIESE 763,500 711,500 52,000
OBNELRE U MES 763,500 711,500 52,000
= 552,000 512,000 40,000
< 211,500 199,500 2,000
Rolassel IS - 22 (5 %HIAIYE)AY 14,000 0 14,000
| 14,000 0 14,000
403 XHXIEHRIS K= 0] & 14,000 0 14,000
| 14,000 0 14,000
01 KXISHIELE 14,000 0 14,000
iyl AIEE X4 14,000 0 14,000
| 14,000 0 14,000
4,083,793 3,818,371 265,422
Eue = = 1,520,493 1,870,797 149,696
| 1,391,262 1,391,262 0
< 1,172,038 1,056,312 115,726
BAHYEEAIZE L A=4E TR 119,669 121,346 A1,677
201 Ler2g| 1,353 1,592 £239
01 ARl 1,353 1,502 2239
oMLY S SYSE 7Y 1,353 1,592 £239
202 01t 8,146 9,584 A1,438
01 =UHoib] 8,146 9,584 A1,438
Cp[EFTER-EES 8,146 9,584 A1,438
1,883,405 1,616,306 267,099
JEge Al XA (2D) 2 1,485,493 1,335,797 149,696
= 397,912 280,509 117,403
1,883,405 1,616,306 267,099
308 XHXIEHHISOI 3 1,485,493 1,335,797 149,696
= 397,912 280,509 117,403
T EREES] 1,883,405 1,616,306 267,009
OISL AN () 1,883,405 1,616,306 267,099
2 1,485,493 1,335,797 149,696
= 397,912 280,509 117,403
HY2ER(FAD) 14,068 16,621 72,553
SEET 14,068 16,621 72,553
SN2 JI=A| 14,068 16,621 72,553
201 Ler2g| 7,153 8,941 A1,788
01 ARzl 7,153 8,941 A1,788
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SN &AL
B HY 2R (ST ]
£hol: | = A | (9 83)
S B S2(3) - HMRAY - BAS Ol o8 71 o HIREZ
o=A2g ARl 7,153 8,941 A1,788
202 01t 6,915 7,680 AT765
TENEE 6,915 7,680 AT65
SH2Y 20l 6.915 7,680 AT765
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